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Question 1
39053 gbols SBLMmEMEGHMEmO sB396909w0 930839690 :
Select one:

a. LObsMEOL 2o3M3ggdol LobJstgl 35349380

b. ®35096x 96 89305 LObsMOL F93ME39EdoL LoBJs6g BmEgdwmen 25G99mIo Lobsmerol
23930390900l LoBdsMgbg 35329080

C. ©59009bx g6 6539005 Lobsmerol 3530390900l LobdsMg dm39dme doMgdmdo bLobsmerols
24930390900l LobdsMgbg 35329330

d. LoBsmEob go3ME3gEgdOL J0BSOHMMYRN dmEIdME 3sMgdmdo

Question 2

30900L Lorwdz9w by sHIBow 0dbs gmBgBHHmOMEo Mm3GHo3ol ----- doM0MSEO
39bmbo.

Select one:
a. byoo
b. bsdo
C. ™35
d. mombo

e. mMo

Question 3
3900560305 0099 3300500 LobsMEIGL go9hb0s MMTs30 3969ds. 493039 gdOLSL dobs
SHLOSMYAL FOEHO M30L9d9d0 (0bEIMIBIOIBE0S, OFMII30s), bmeom
6030009093bM6 MBHM0gOMNJIGIBOLIL = 33560 (BbMDs, 253MUBOZYVS).
Select one:

True

False

Question 4
39005390 gobloB3zMgdgdo gMmIsbgmL:

BoOMIBIIEO  Answer 1] oS-
Gowob boa®dg Answer 2| Choose...
39660 Answer 3| choese-
1399GHO™IYSH®O Answer 4| Choose...

Lot Lol e L
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Question 5
3039000 5 3gMEg 35M93ML SBLMEIEOO FoOOGIHOL 5B3969dgd0s 11 s T2 ,
d9L50530L5. 25FYMAB0 HBYJI30MH0B LEOWWO 69330l M3 gbs 235d3L, OMEs:

Select one:
a. N1 = Na
b. 1 < Mg
c. N1 <My

d. 1 = TNa

Question 6
LobsWOL 0bEFHYBLOZMBS 3BIMIMOF0IEOS:

Select one:

a. dbmeom s3boGmmo 0bwydiool 39dEHm®ol Loowol

b. 99dBH®mmo ©sdsdwEmdOL 39dEMG0L LooEOL 3IBOL
C. dbmm© 99dGHMmo 0b6dzool 39d@mEmol Loowol
d. 9940 ©ddMEMdOL 39JGHMMOL LOOWOL 3Z5MEHOL

Question 7
39008560305 0¥) 300500 9OHMbs06 F5BgdTdo dgMbgg FaMGH0ms 4gmIgE Mo

530 ool Bgs30600 gfimgds, bonwm @Gosweol dmfobsgzg BgLsdodlL - Gowool
a3O™bG0.

Select one:
True
False

Question 8

™60 3039096@¢Mwo ool Bggdom domgd 0b3gMHxz9M9bE0ME LMoy
0b@9gblogmdol aojboagjagbo @0080006)360 D90G0mgddo, Losg bgwsms bLbgomds @meos

(A B@ol Log®dgs , =0, x A e
Select one:

- (2m + 1)

- 2m

(2m+ 1)

- (2m + 1)

a
b.

Co

£ [ B3 b | B | e

=5

Question 9
LObsMOL OLZIOLOS GOV TgI0:

Select one:


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=n_1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=n_2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7Bn_1%7D%3D%7Bn_2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7Bn_1%7D%3C%7Bn_2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7Bn_1%7D%7B%5Cle%7D%7Bn_2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7Bn_1%7D%3E%7Bn_2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Clambda
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m%3D0%2C%5Cpm1%2C%5Cpm2%2C...
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B%5Clambda%7D%7B4%7D%5Ccdot%282m%2B1%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B%5Clambda%7D%7B2%7D%5Ccdot2m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B%5Clambda%7D%7B2%7D%5Ccdot%282m%2B1%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cfrac%7B%5Clambda%7D%7B3%7D%5Ccdot%282m%2B1%29
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a. 99d@®™saboBH MmO BHo@ols s 5030gMYdOL bsfowrs3zgdol MMmogHhmJdgogdol
b. 6030009M980L 65§093930L AMIZ0E)9E00 MHMOIOMJIGIdOL

C. bLobsmols s 603MOIMYBOL b5fos3900l FMO3039E0ME0 MM0YMmMJdgLIdol

d. 603009M930L bsfows3gdol gangdEHO™Isa6oEHMGO »YOHMOIOMJIg9dol

Question 10

F900560¢)05 009 I360:

360Hds30 Lboggdol osbms begds 49M©o@gbols dsbgz9b9dgeol dobgzom, Mmdgwos
01MmY05 3o ol LogMdol d9830Mgdom, s30E™md 3G0BTs osbemol fomgwr Lboggdls

439B9 6530905.
Select one:
True

False

Question 11
6030009690580 LobsPEOL FNbMJIoL TgIAS© FodMbHIro Lobsoeol 0bEgbliogmds:

Select one:
a. 33oMEY0s
b. 0bO@gds

C. 56 0(33e9ds
d. 0g3wgds 39M0MEOYILO

Question 12

3900560305 00¥) 30900 ,5059259F30035¢0g bLbgmewols 3960 ITMI0IIM0s Mo
B9MOL GHoeol bog®dol Lboggdl 5693wagl Lbgmwol Bgsdoto”.

Select one:
True

False

Question 13
30BN Gow©gdol BggdoLsl dooMqds 0bEIORGMIbE0Iwo LMo, 014
HIWOIV0 30EOODIDIIE0S ===~

Select one:

a. bLodMAHYY)0do, HMIGdoE Jdbosh gMmMIsbYMb 45% _o56 3mombgls
b. M6H09H»oHOMd LodMEHYHd30

C. 960 LodGMEYgdo

d. bbgsalibgs LodMEHYgdIo


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=45%5E%5Ccirc
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Question 14
3900560305 099 30500 2560990 2560339990 J0dsMMNgdoL Lobsomol 65350l
39005bEMOBL Yyz9ws Jgboderm JodsMmegdom - Lobsmol 2536935 9fmgds.

Select one:
True

False

Question 15
3O0LESOL 35H5EIHOL BBgBdGOos M, LEXO 3MEsmOBIGO0L JHmbgs Fo
0M0LGHYMHOL 356Mmbols Mobsbdo:

Select one:
5. 8inp, = 1

b. 190 = 1

c. SN, =N

dPe=T"

Question 16

o065l b Jds s®OL Fggyo:

Select one:

a. LObsMEOLs S 6030YIMYOOL b5Hoes3900l 4M303)S(30vIO YYOHMOYMJIgEIdOL

b. 603m0gMgdol bsffoerszgdol gengd@®mdsabodw®o »MHmog®mJdggdol

C. 99dB™™s3bo@GMM0 Bowmols s 603009Mgd0L bsfows3gdol MMmogmmddgwogdols
d. 60300090980 65053900l MOZ303SEOIO MM MmMJIgEIdOL

Question 17
3900560305 0¥) 30560
390MO0EH $9MRMHI39w0 9w9dG™™bgdol 306930300 96900 ©ITIMI0WYIMWOS
5399990 LobsMWOL 0bFHIBLOZMBSBY S O GOV IMI0YdIMo LobdoMgby.
Select one:

True

False
Question 18

3900560305 099 3900 ) gargdGHO™bol dog dgdgboero gbgeyos 9@ os
99JGH®MbLS S 5GHMIBOMOMZL FMEMOL dJob gbgMy0sBY, 35006 50O 56 59d3L 5EH™Tol

00b0Ds30sL. ) g 969gMR05 B3TsMLO 56 HMOL 0MboBsGoOLIMZ0L, B5d0b gargddBmbo

BOOOL MBOM 505 969MRIGH0IN ©EMbyBY.
Select one:

True


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=n
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvarphi_o
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=sin%5Cvarphi_o%3D1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=tg%20%5Cvarphi_o%3Dn
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=sin%5Cvarphi_o%3Dn
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvarphi_o%3Dn
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Question 19
399915059900 B0HB0IMMHO LOWOWYIO0 S BOTdIMEMYdO JOHMTSBYNU:

M Answer 1| Choose... -]
[ Answer 2| Choose... [
1. Answer 3| Choose... E

S Answer 4| Choose... -

Question 20
ABOEGMI9JGHO™bId0L Lsfgolo 306930300 gbgMaos dom dg@os, Gog ----- Q5 56 5M0L

©59M30009090 53990 LobsmEol 0bE9blogmdsby.
Select one:

a. 3905 Lobsmerol LobdoMy

b. 3905 LOBsMEOL FHowol Log®dy
C. 65309005 Lobsmeols gbgmyos

d. 6539805 LobsmeErols Lobdomy

Question 21
5 56 2o9m0yYyqbadms MHgbgmRMmM©OL 30sdo?

Select one:

a. el 30wods

b. ®3005J&H0mc0 253mlboggdol fyserm
C. 95edobgl30b30Mgdgwo 93Gsbo

d. 06Mdzor®mdol 3ms

Question 22
QMg 2obFomEHJds: dMOOL MmMHd0EJO0 oMMy gbgb 0d FogdEHowms

399G 50 gdl, LOIE JgdBHOMbOL 5IMBIbOL SEdIMDS ----= .
Select one:

a. «183069505

b. w060l wlsberemmdsls (30)

C. 1ogLbos

d. ¢mwos 6ol

Question 23
095005000l 5@GHMTol 25dmLbogqdol 13gdEHMOLmM30L, GHowmmo Gogbgzol
1 1

2500lsm3g BeGIMwsdo ¥ = R(zz —2) , 65 Loogs I


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=l
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=n
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=S
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cinfty
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cnu%3DR%28%7B%5Cfrac%7B1%7D%7Bm%5E2%7D%7D-%7B%5Cfrac%7B1%7D%7Bn%5E2%7D%7D%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=R
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RS RS R

Select one:

a. ®odgMAoL 3d03s

b. 5¢®dol Gogomlio

C. 99d@G®mbols mGdoE0l Moworlio
d. 3wsbzol dydogs

Question 24
9000 MMH30EH00 FgmOHgHg 9egdBHO™MbOL gowoligarolsl 4sdmliboggdmwo

350l Log®dg a560LsBM3EIRs bgH0o BmGIMwon (1 560l HGodgGOl

09000035, 1 s k dogmo Gogbggdos):

Select one:

1 1
a. 1(¥1 El)
.V =%(m — =)
. ¥ = %(%ﬂ o .!:_9)
d.”—R(%z—;%z)
Question 25

AsLob LA ©9399EOL Lsdwmsmgdom 330l LA L gBgGa00l 353mbsmgegm BmeIEsl
593L Lobg:

Select one:

a. AL = L:‘_-_ﬂm

b. AE = Amc?
. AF =AAm
d. AE = m?/Ac
Question 26

3900560305 0099 300500 3oL 39POMO 9GogMos BHMO0S 08 F9domdols, MHMIGELO3
LoF0MHMS B0OMZ0B gMMO 6993e0MbOL STMBoRIdS.

Select one:
True
False

Question 27
5L3 Lobigob 6030gMgd5d0 LobsMEPOL F9BMJToLOL WoEJFo LobsmErol

0b@9blogmds €-x 96 9993060©s. MOoLO BHME0s msbmddol 3mgz03096E0
(39¢080 BofigMgom dbmemo Mogbgo, dsy. 1,234).

Answer:|


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=R
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=i
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=k
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cnu%3DR%28%7B%5Cfrac%7B1%7D%7Bi%7D%7D-%7B%5Cfrac%7B1%7D%7Bk%7D%7D%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cnu%3D%7B%5Cfrac%7B1%7D%7BR%7D%7D%28%7B%5Cfrac%7B1%7D%7Bi%5E3%7D%7D-%7B%5Cfrac%7B1%7D%7Bk%5E2%7D%7D%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cnu%3D%7B%5Cfrac%7B1%7D%7BR%7D%7D%28%7B%5Cfrac%7B1%7D%7Bi%5E2%7D%7D-%7B%5Cfrac%7B1%7D%7Bk%5E2%7D%7D%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cnu%3DR%28%7B%5Cfrac%20%7B1%7D%7Bi%5E2%7D%7D-%7B%5Cfrac%20%7B1%7D%7Bk%5E2%7D%7D%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Ctriangle%7Dm
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Ctriangle%7DE
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Ctriangle%7DE%3D%5Cfrac%7B%7B%5Ctriangle%7Dm%7D%7Bc%5E2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Ctriangle%7DE%3D%7B%5Ctriangle%7Dmc%5E2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Ctriangle%7DE%3Dc%5E3%7B%5Ctriangle%7Dm
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Ctriangle%7DE%3Dm%5E2%7B%5Ctriangle%7Dc

Question 28
S0LMEMEMOSE 9530 LbgmEol 3H9gddgho@m®s T go0bods 10 - x96.

59Q09bx IO 450DIMS SOLMEYEHMHS© F530 bbgremols LMo
063930500 6500905 (39080 Bsfiggm dbmermo Gogbgo, dsp. 1.23).

Answer:|

Question 29

S0LMEMEMM 3530 bbgmeols $9a339Mo@ M 2o0BsM©s 7 - xg6.
59009b%x 96 9993060905 dobo Foglodse)Mo AsTIMBB0Z9OOL bsOOSbMdOL

99L0d530LO Bowmol Loa®dg. (3gwdo RsfgMaom Bbmemo Mogbgo, dsy. 1.2).

Answer:|

Question 30

3L YOMOL BMEMIBIJGHOL Fomgeo LEBEZIMO (Fdoww ol Log™ady)
56aLEHM909080 (A%), 09 8950l BYE30H0ED F5dMZE Ol dmdsmds 2 93-
05 3630l dmdogs h = 6,6:10 .9, 1 93=1,6-10v %, 1A4°=1-10-
109, c=3-10° 3/49 (398o BsfgMgom dbmeme Hogbgo d989ao Labom, 3oy
1.2).

Answer:|

Question 31

0500960 XMwos 8-102 gm@mbol gbgMyos, 0w dobo bLobdomgs
2:10 39630. 3gobzol ddogs h = 6,6-10-+ x.(3 (39¢do Bsfadgm
dbmemo Mogbgo 999930 Lsbom, doy. 1.234).

Answer:|

Question 32

09500500l 5@GHMTol  453MB03gd0L BsBM356 L3gdE MOl dodgMol

LgMosdo Ms3gbo R -0l GHmeros  39-4-9 bobol dglodsdobo Eoswrmol
Lobdocg (¥) (R 9®ol ®oEdghaol dxwdogs)  (39wdo Rsfg®gm dbmerme
®osbzo 99090 bsbom, dop. 1.23).

Answer:|

Question 33

095005000l 5GHMTol 25dmLbogqgdol bsbmgsb 13gdEHMol oodsbols bgmosdo
5900960 R -0b Eme0s 39-2-9 bsBol Fglodsdobo Gowmol Lobdomg () (R
56ob MoEdIMAOL 3©d03s) (39wdo BsfgMgom dbmemo Gosbgo G890
Lobom, doy. 1.2345).


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%5E%5Ccirc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%5E%5Ccirc
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cnu
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cnu

Answer:




